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Instructions to the Candidates - .� .: � � �
Read the following instructions carefully before m � � � � � f.lNf �cm� �1

you answer the question: 

1. Answer are to be given on a SEPARATE 1. � � � � � lR � �1
ANSWER SHEET.

2. Please write your eleven digits Roll Number 2·
very clearly on the Test-booklet and Answer
Sheet as given in your admission card.

3. Please note and follow the instructions given 3· J;<l1 JTI{������lR�"lJ"q�

on the answer sheet for writing the answers.
� � � � � �1 

4. Darken the CIRCLE with pen for answering the 4. VR'ltil'��� �VR�Ff���
question in the appropriate space against the � � lR mR <m lR' � <fiIBT �1
number corresponding to the question you
are answering.

5. There are 100 question in the test. 5· 

6. Since all questions are compulsory, do not try
6· 

NJ\ 7. 
'!JV' 

read the whole question paper before 
beginning to answer it. 
If you do not know the answer to any 7. 
question, do not spend much time on it and 
pass on to the next one. Time permitting, you 
can come back to the question, which you 
have left in the first instance and try them 
again. 

8. Since the time allotted for this question paper 8.

is very limited you should make the best use
of it by not spending too much time on any
one question.

9. Rough work can be done anywhere in the 9.
booklet but not on the Answer sheet/loose
paper.

l-«��lOOVRfl 
��VR�f������ 
�1VR<m�<fit<f>1ffflr-f�I 

� 3'lli � VR'ltil'�offlY � f m � lR� 
�-f� � �VRlR"«�I ���� 
�m�mcm ���� m�lRTf: 
�����'ltil'��I 

� l-« VR � � � � � � � t, 
��������VR 
lR��-f�I 

Tio������� i;l'T � !, � 
� � ��'II'{ offlY1 

10. Every correct answer will be awarded one 10. � � � � � � 3t'<fi 'IRA'� �1 
mark.

11. Please return the answer sheet to the 11. �������cm� �1 

invigilator after the test.

Please turn over the page and start your work. 
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1. In a certain code, MENTION is written a
LNEITNO. How is PATTERN Written in that 

,' ... 

· code? f''\ At-l
1. APTTREM v 

2. PTAETNR
/oTAETNR 

4. OTAETRN

t'-' 

2. In a certain code language, the word NUMBER

3. 

4. 

5. 

6. 

is written 'SECNVO'. How will the word 
'SECOND' be written in that language? 
1. EPOEGH
2. EOPDFT

/oPETFD 
4. TEFDPOE

I& \ 'l \\.\ }() 
If PAINT is code as 74128 and EXCEL is coded 
as 93596, then would you code ACCEPT? 
y. 455978 � 5 s 
2. 547978
3. 554978
4. 735961

In a certain code, if SCHOOL is coded as 
123445, TEAM as 6078, how is HOTEL coded in 
that code? 
1. 34785
2. 60734

�/
43605

jf 34605 

Which number woul9 replace question mark in 
the series 7, 12, 19�?, 39 i' 

1. 29 ��
/is 

3. 26
4. 24 '1. 

? - ( '"' 

---,(� I( ;. � y 
Which fraction comes next in the sequence I.\ 
1/2, 3/4 I 5/8, 7 /6? 
1. 9/32
2. 10/17

/11/34 
4. 12/35

) 

,, 

1 

\C\ 

1. � � � lf MENTION cl5T LNEITNO �
Tf<fT t1 � � lf PATTERN cl5T � >fcJ>R 
��7 
1. APTTREM
2. PTAETNR
3. OTAETNR
4. OTAETRN

2. � � ffi 1TT1!IT lf � NUMBER cf51"
'SECNVO' � '3lTITT t I � 1TT1!IT lf �
'SECOND' � >fcJ>R � �7

3. 

4. 

5. 

6. 

1. EPOEGH
2. EOPDFT
3. OPETFD
4. TEFDPOE

� PAINT cl5T 74128 3ITT EXCEL cl5T � � 
ffi' ACCEPT cl5T � >fcJ>R � �7 
1. 455978
2. 547978
3. 554978
4. 735961

� � ffi lf � SCHOOL cl5T 123445 3ITT
TEAM cl5T 6078 � � m � ffi lf � 
c/5T���I 
1. 34785

2. 60734

3. 43605

4. 34605

<ft�� 7, 12, 19, 7 39 lf \,Ft,'jqltjc/j �
cfi�cjx�-���? 
1. 29
2. 28
3. 26
4. 24

� � � 1/2, 3/4 I 5/8, 7/6 __ l) 
� � � "ffT N1n? 
1. 9/32 
2. 10/ 17 
3. 11 /34
4. 12/35



7
, F{9{q"Tittinc number in the given series

9,71,20,37, _a2.
t. 4t
2. 60

z5r
4.7r

7

10.

't'l

1.

2.

4.

A G {qdr t srgqfurd i}t6 6t{ qr dm?
9,'11 ,20,3',t,

1. 4'.1

2. 60

3. 51

4. 71

Fr{rr (qrt a d ro): Frqfufur sro
qErtr irr qqrc 6{d Es ftc.rq rri'
or srt <i,
2,6,7,5,4,3,7,4,8,9,4,8,9,4,3,2,5,4,7,9,8,6,8,7,

2,5,3,7,6,4,9,3,6.

A q{ rjqdr t fr;ai z tS t fr-rd gr< rrd
q6 srq et-t gr< qK v6 frqq €e1 $7

82

t otc vr oio Zqdr
........ ot Fwr r€t *.n?

(a. 8-101 Direction: - Study the following
number serierto answer the given question.

2,6 2,5,4,3,7,4,8,9,4,8,9,4,3,2,5,4,7,9,8,6,8 f ,

"L,2,5,1,7,6,8,9,?6.

How many 7s are there in the series which are
immediately precede by an even number and

immediately followed by an odd number?

L.2
2'lA

y'3
4.5

\ 9. Which of the following will not be number of I
the series

A 255

2.5L2.
3. 729

4. 1000

!r'i,'*+'$',-a.5"

How many such number are there in the series
which are immediately followed by its
multiple?

1. 3

,..r0
y'.s
4.7

A rr{ sis-dT t tt ffi oio t, ffi gr<
EK i'sd qlt X"M tU
1. 3

2.4
3.5
4. 1

A rr{ siqdr yEB, wFD, uHG, sKr, ............t
Rm terr t cqr 3lr\'.n?

1. QGL

2. TOL

3. QOL

4. QNL

8

2

4

3

FrqftfoR T
1.8,27,64,125 ...

1. 256

2. 512

3. 729

4. 1000

10.

'L'< L
mes next in the series? YEB,11. Which term

"ryr'b'TEt':'tI. QGL

co
KI,

2

2. TOL

;'root4. QNL

qo

8.



• 

f

12. Pointing towards a person in a photograph,
Anja Ii said, "He is the only son of the father of
my sister's brother". How is the person related
to Anjali?

12. � m -q � � cCt GITT � � �
�-;)�qg��cfi1TTtcfi�cpl
�ct>e1�a1 �-g, qg vffirrr � � fcITT:f m
�t?

13. 

14. 

15. 

16. 

1. Mother
2. Father
3. Maternal Uncle

fBrother 

Pointing out to a lady, Mohit said, "she is the 13. 
daughter of the woman who is the mother of 
the husband of my mother''. Who is the la,py tot\0�, 1 
Mohit? · 

/Aunt 
2. Grand Daughter
3. Daughter
4. Sister

A and B are brother C and D are sister. A's son 14. 
is D's brother. How ·is B related to C? 
1. Father
2. Brother
3. grandfather

y.uncle l J>.

--

f
-

Deepak is brother of Ravi. Rekh� is sister�gf si (,,15. 
Atul .Ravi is son of Rekha. How is De�t rJCk.. �Ml 
related to Rekha? 

� l,
' 

/son \telobG.. \Q.... �v� 
2. Brother -� ·

A Nephew 
4. Father

I am facing south. I turn right and walk 20 
metre. Then I turn right again and walk 10 
metre. Then I turn left and walk 10 metre and 
then turning right walk 20 metre. Then I turn 
right again and walk 60 metre. In which 
direction am I fr m e s arting point? 
l.�orth-We�

./. North-East 1,..----. 

3. North
4. West ')...v 

16. 

3 

1. lTTill
2. fqcrr
3. llllTT

4. 1fTt

� F.ft cCt GITT � m � lTTfITTl -;) �,
"qg � � cCt � t "GIT � lTTill cf> �
cCt lTTill t I" qg � lTTfITTl � fcITT:f m
�-g?
1. ffl
2. -ctM'r
3. �

4. �

A3ffi B 1fTt ti C3ffi B � -gl j cpl� D
cpl 1fTt t I B cpl �'cl C � fcITT:f m t?

1. fqcrr
2. 1fTt 
3. �

4. � (�) 

�' °xfct cf>T 1fTt %1 �' � cCt � %1
xfct. �cpl� %1 � � � fcITT:f m
�%? 
1. �
2. 1fTt
3. �
4. fqcrr

Tf � � -q � m { I Tf � � 3ffi 20 
� �, � � Tf Gfll � 3ffi 10 � 
�,�tr�� GITT 10 � � 3fix 
�Gfll� 20 ��I ��Tf � 
� 3ffi 60 � �, � � � � 
��t? 

1. \TTR- �
2. \TTR-�
3. \TTR
4. �



\-1\ ' N-
0 ire ct ions (17-19): Study the following information 
carefully and answer the questions given below: 

'P$Q' means 'Pis father of Q'. 

'P+Q' means 'P is son of Q'. 

'P@Q' means 'P is sister of Q'. 

'P%Q' means 'Pis wife of Q'. 

'P&Q' means 'P is husband of Q'. 

17. In the expression 'M+K$T@N' how is M related
to N?
1. Sister
2. Cousin

ysrother 
4. Paternal Uncle

18. Which of the following expression represents
the relation Vis mother of D?

19. 

20. 

1. V%Q@R$D
2. j)+T@J$V

/ V%Q$R@D 
4. V@F $D%M

In the expression 'E+H@K$B' how is B related 
to E? 

\-\ \/....
.-

. 1. Brother
l 2. Sister 1-\- B 

/. Cousin 
4. Can 't be determined

Rajeev is facing west. He turns 45 degree in the 
clockwise direction and then another 180 
degree in the same direction and then 270 
degree in the anticlockwise direction. Find 
which direction he is facing now ? 
1. South
2,_)Nest

/ South-West 
4. South-East / 

-..... 
'-, 

4 

��11Ptc?"�1 (17-19): cft � ull-icf>l.fl "cf>)- \:41-il{4cf> 
� 3ITT Plk-1� �d � q,f '3ffi cftftn): 

P$Q' cpT 3l2l t 'Pn«TT t Q q;r' 

P+Q' cpT 3l2l t 'P � t Q q;r' 
P@Q' cpT 3l2l t 'P � t Q �? 

P%Q' cpT 3l2l t 'P � t Q � 

P&Q' cpT 3l2l t 'P -qfc,- t Q q;r' 

17. � � � 'M+K$T@N' -q M,N � fcRf
-

>fq5'R � t?

19. 

20. 

1. �

2. � (.fim'r �)
3. �

4. ffi<TT/�

1. V%Q@R$D
2. D+T@J$V
3. V%Q$R@D
4. V@F $D%M

� 'E+H@K$B' -q B,E � � � t?

1. �
2. �
3. �

4. WTI-=nftfcnm'G'fl"flcITTTT

� � � -q � m t1 qg 45° 

�(��������) 
� 3lTx � 180° � � � � 3lTx � 
270° cWTTc@(� � � � � � � 
� �) � I llill � � 3lEf cffi fcRf �
-q �mt?

1. �

2. �

3. �-�

4. �-�



; 

\o \ )_ 
itV< 

21. Rohit walks 10 km towards North. From there
he walks 6 Km towards South. Then, he walks
3 Km towards east. How far and in which
direction is he with reference to his starting
point?
1. 3 Km South
2. 4 Km East
3. 5 Km South

/sKm North-East

Directions (22-25) Study the information and 
answer the questions given: 
Seven people -P, Q, R, S, T, U and V are sitting in a 
circle facing the centre. P is between T and S. U is 
between Q and V. Q is 2nd to the right of T.

21. � � r5I" 311x 10 Km �I cfit � cf6 

6 Km GrelUf r5I" 311x � I � � cf6 3 Km
1icf r#I" 311x � I � � fu_ffer � cf6 

� � 3ITT ��-qt?
1. 3 Km GrelUf
2. 4 Km 1icf
3. 5 Km GrelUf
4. 5 Km �-1lcf

��11f)tcr� (1-10): cft � utH<t>l.ft ctTT �l-1'{4<f> 
� 31R f)tl'-1�f&a � <f>T � cftftnl: 

fflo �- P, Q, R, S, T 31R U «fo ll -;t� �
3ITT � � � «fo ll tt f I P, T 31RS c6
� t I U, Q 31R V <6 � t I Q, T <6 GJt 3ITT 

22. Vis sitting

��"<Rtl 
_2. '1 22. V mt

1. Between P and U 1. P3ITTUcfi�
2. to the immediate left of U

/ 2nd to the left of P 
2. U cfi � � 311x
3. P cfi � 311x � � "Qx

4. 4th to the left ofT

23. Who is sitting in the immediate left of R?

/r
2. S
3. U

4. V

24. Which pair amongst the following are not
immediate neighbours?
1. TR
2. SP
3. vu

y'so 

25. What is the position of S with respect to U?
/. 2nd to the right

2. 3rd to the left
3. Immediate left
4. Immediate right

5 

4. Tcfi � 311x � � "Qx

23. R cfi � � 311x ffi W t?

1. T
2. S
3. U
4. V

24. � � ffl � � frlcpc� � � �7
1. TR
2. SP
3. vu

4. SQ

25. U cfi -mqa, S r5I" fu-ffer cffl'T t?

1. ���
2. � � �

3. �ri
4-��



26. Two positions of dice are shown below. How
many points will be on the top when 2 points
are at the bottom?

• • • 

• 
• 

• 
• 

• • • • • • • • 

• • • • • 

1. 6
/.1 

3. 4
4. 5

Directions (27-30) Study the information and 

answer the questions given: 

Six dice with upper faces erased are as shows. The 
sum of the numbers of dots on the opposite face of 

each dice is 7. 

cl}'. 

v. 

(IV).' (V) (VI) 

If even numbered (ii, iv, vi) dice have even 
number of dots on their top faces, then what 
would be the total number of dots on the top 
faces of their dice? 
1. 12
2. I 14
3., 24 

/18 

28. If the odd numbered dice have even number of
dots on their top faces, then what would be
the tot�I number of dots on the top faces of
their dice?

/8
2. 10
3. 12
4. 14

6 

• • • 

• 
• 

• 
• 

• • • • • • • 
• 

. • • • • 

1. 6

2. 1

3. 4

4. 5

��11f.'lchr (21-30): <ft � ut1-1<1>1� <ITT f41-1'{<f<t> 
� 31N f.'ly��c1 � <pf xfi'R cftftm: 

� ll'RTT ct��� qR ��ti
�<f> lfffi ct � q� c1 � ct 3T"<f>T <pf um;

7 t I

(I) 

27. 

D) .. · .. . 

. . 

(II) (Ill) 

. [I)· BJ· ev·. 
. . . .

. 
. 

. 
. 

. . 

. 

(IV) (V) (VI) 

?:!ft Wl �(ii,iv,vi) � -qmt cf>�� 
lR � � Wl � "ITT fil � � � 
lR �3TT coT � cf<lT m1TT? 
1. 12

2. 14

3. 24

4. 18

28. ?:!ft��� -qmt cf> �� lR
��w,�mm���lR
�3TT cpf � cf<lT m1Tf?
1. 8
2. 10
3. 12
4. 14



✓ 

.. 

" 

29. If dice (1), (II) and (Ill) have even number of dots
on their bottom faces andthe dice (IV), (V) and 
(VI) have odd number of dots on their top faces,
then wha would be the difference in the total 
number of top faces between these two sets? 
1. 2
2. 4

4. 0

30. If the even numbers of dice have odd number
of dots on their top faces and odd numbered 
dice have eyen ofaots-on their bottom faces, .-- ; 

. ---
then what would be the total number of dots 
on their top faces? 
1. 14
2. 18

f16 
4. 12 

Directions (31-32) In each question below are given 
two statements followed by two conclusions 
numbered I and II. You have to take the given two 
statements to be true even if they seem to be at 
variance from commonly known facts. Read the 
conclusion and then decide which of the given 
conclusions logically follows from the two given 
statements, disregarding commonly known facts. 

31. Statements: All bags are books. All pencils are 
books. 
coyclusions:

/. some pencils are bags. 
� No pencil is bag.

1. Only conclusion I follows
2. Only conclusion II follows

/Either I or II follows 
4. Neither I nor II follows

7 

�­

\� 
I

·- 1 ::>:>

29. � (I), (11) 3lR (111) qrm r$ frlzj � l:R
� � � � if 3TR (IV), (V) 3TR (VI)
q["fflr$��1:R���� 
m. m � zj" � -q � � � l:R
�3TT r$ * -q 3IBx cmT m1TT? 
1. 2
2. 4
3. 6
4. 0

30. � � � (11,IV,VI) � qrm r$ � 
�l:R����if3fix� 
�(I, Ill, V) � qrm r$ frlzj � 1:R � 
���ifm���l:R�3TT 
coT * cmT m1TT? 
1. 14

2. 18
3. 16

4. 12

�:tll�c?":tr (31-32) �<f> ™ 1" <TT <f>� 3TR 
<TT �&f>tif l<J II 75 ffl"� � � t I 3TJlTqTT � 
<TT-TT <f>�- � � 1fA-lT t.� � � �

� � � 61 <fm' -l "ITT I ttlifl� � cf� 
� ElJR -l � � �&f>qf � � 3TR 
d I f¥<t> 3TTErR lR � <f>') � il <tft � � <f>� 
� ffl ffl" � �<f>cldl t I 

31. <t>�=�ti"T�t
�ti 

�: 

1.�qftrc;rti-lt I
11. � qftrc;r ti1 .,tf 't

1. Wc@�I
2. Wc@ � II
3. <TT ID I <TT II
4. -l ID I-lift II



32. Statements: All mangoes are golden in colour.
No goJdep-coloured things are cheap.
Conclusions:

� I. All mangoes are cheap. 

y. Golden-coloured mangoes are not cheap.

1. Only conclusion I follows
/only conclusion II follows 

3. Either I or II follows
4. Neither I nor II follows

Direction {33-38): There is a question mark in empty 

cell. Find out the correct alternative? 

33. 

/1

2. 8
, 3. 3 

4. 9

34. 

1. 2
2. 4

/3 
4. 5

\ 

8 

32. �=�3lflTT��-q��t1�
����-mft
�:

I. �3Wl�t I
II. � � � 3Wl � -ml t

1.��I
2. ��II
3. mm I ?TTII

4. -;, ill I -;, tt II

f.n?°W (33-38): � � 1f � � � t I 
���? 

33. 

1. 7

2. 8

3. 3

4. 9

34. 

1. 2
,, 

, 
2. 4

3. 3

4. 5



n) \)x
to

t\q

35.

36.

37.

.23

.12
60

32

w 3s.

}t'

"\*

1

2

3

1-.23
2. t2
3. 60

4. 32r

,{

\r,1- ,r
..l5'

a
L

61

4 5

5 815

38. Find the missing charater (?) in the following
diagram. \

t9
G

36.

ot

4 5

!28

71

r27

89

2

5 815

4

't. 12

2. 18

3.9
4. 10

38. ft"i frc ,Tc fud il qrff *qn t sfuo oio
crq 6t I

rit
rb

1

2

6

2

4

3

4

6

1

2

t2a
7t
t?7

L,

2.

3.

4.

4

4. 89

6 t

72

18

/,

a
@'

53

6

104.

3D

'1.

2.

3.

4.

4

305

343

729

9

?

6 7

6 7

? ?

7.4
2. 305

v 343/
4.729

?

125

216

125



-

39. Find the missing character (?) in the following
diagram.

Y4 

8 
f Cf; 

64 

? 2 

/1 
255'V 

2. 2
3. 3
4. 4

40. Find the missing character in the following (?l
figure such that it follows rule

36"118 27>-� 
-12

11

18 30
, 

16

�

32 
40 

' eoo�\O <?.S. ... 
1/ v.,. ,  -� i 

1<:t 6 8 

1. 18

41. Find the missing character (?) in the following
f

6
igure such th:KB

0 1 

6 21 7 ° 4 ? 8, 
u,<:> 

 ... 
. 4. -1--'\// 5 �-, 10 0 

. ' s I. 
•• 9. 1. 14 - \. � 1.  ·, ·  '� � ' 

2. 22

/
32

4. 320

42. Find the missing character(?) in the following
'��Wfa° 

�

ure 

E

h t

�

t it 

E

w

�

ule C '\ 
':;, '.£.. I 80 65 ? t.:-f-

• ? ) }' 
5 6 4 6 11 8 

,.._,� 1. 48

2. 72
3. 35

P0

10 

39. � � � m lf � � (?) lf �
� m1:cl <fRI

25 

1. 1

2. 2

3. 3

4. 4

4o. � � � m lf � � � � � 
m1:cf <ITT' � � � qjT � m

1. 18
2. 12

3. 9

4. 6
41. � � � m � � � (?l lf �

� m1:cf <ITT'��� qjT � m

10 

1. 14

2. 22

3. 32

4. 320

42. � � � m � � � (?l � �
� m1:cf <ITT'��� qjT � m

1. 48

2. 72

3. 35

4. 120

.. 



43. 5,8,28,L62, _ L287O 5 I .2 > ,g , ._ 
'L./)738 YYi)(q.r,7 2318 \;\l3. 1288

4. 2224

S$'**
:_--

Direction (Ques. 43-501 There is a series provided
you where a gap is left. Analyze the series and fi
the 8ap

44 abbGbaalq bbabgrba

/ abba

2. abab

3. ccac

4. aabb

b
45. J99, Hur, - ,rr, ,, l)t. s23

)2. F3s

3. F31

4. D33

.{ 0.5

0.9

13

t4
15

vr
a),'

.?

46. 0.L5,03, 

- 
r.2,2.4

1. 4.8

2.0.005

4

47. 2,3,5,7, lL, 

- 
L7

L. t2
{
3

4

48. 8,43,7t,47,_39,t7
7.43
2. 37

{ta/4. L9

49. 6, LL,2t,36,56, _
\.42
2. sl

y'81
4.97

o

lrg 7, 43

ffiqr (q{{ urwr a.-uo, : srltf.Di go lear
A .rff t ftrst r.o fto *ern otsr .rcr I t

Z*terr lnr mq"r dfirn *r fto terpq ql I

44. ab

7.

2.

3.

4.

5,8.24,162,_,1287O
'1. 1738

2. 2314

3. 1288

4.2224

b_baa_a_bab_aba

abba

abab

ccac

aabb

J99, H63, 
- 

D15, 83

t. E23

2. F3s

3. F31

4. D33

0.75, O.3, , 7.2, 2.4

1. 4.8

2. 0.006

3. 0.5

4. 0.9

45

46

47 2,3,5,7, tL, . L7

r. L2

2. 13

3. L4

4. L5

48. 8,43,71,47,_39,L7
t. 43

2. 37

3. t4
4. t9

6, 1-L, 21,36, 56, _
L.42
2.51
3. 81

4. 9t

L1.

49



, 

-

,..., -1-l{, -'\,-;\ \ . 
� ----..... � . , ,----..._ 

so. 210, 2�_9, �1!, �J 202
.:...::,--

/ 77 ·\· -�'lo

16' 

2. 177
3. 138
4. 200 '7 

, 1/ 
Direction (Ques. 51-52) There is a series provided to 

you where one of the entry is wrong. Analyze the 

series and find the wrong entry 

51. 2,12,38,80,150,252,392. 
�/ 1.. 392 � \ O} I 0 

2. 2
j(38
4. 150

\ "'" 

0,6.24,60,95,210,336 
-1,��G,

-...:...,.., 

• 1 ...... :_210'?,(�
2. 336 
3. 120

/"gs

Directions (Ques. 53-57): In following questions in 

certain code language if'+' means '-,t, '-'means'+', 

'x' means '+' and '+' means '-', then answer the 

following questions. 

53. 16+2-3-:-4=?
/31

2. 26
3. 15
4. None of these

54. 9+3-:-18x3+4=?
1. 30

3. 13
4. 0

55. 28-:-36-49x7+2=?
1. 12
2. 10
3. 8

Y.--6 

12 

50. 210,209,213, 186, 202, __
1. 77
2. 177
3. 138
4. 200

�"ff (™ � 51-52) : 3TJllcfil � JJ{<!fc-tlc!1 
l'1<fi t � � � l'@o t I JJ{� <f>T 
f4:tc-lf401<61fttll � l'@o � Wo cfR' I 

51. 2, 12,38,80, 150,252,392
1. 392
2. 2

3. 38
4. 150

52. 0,6,24, 60, 95,210, 336
1. 210
2. 336
3. 120
4. 95

�"ff (™ � 53-57) : �J...t�f&ct � 1f 
m 1fJlifT 1f � '+' <f>T 3l� t 'x', ,_, <f>T 3l� 
t '+' I 

1
X

1 <f>T 3l� t 1+1 � 1-1
1 

<f>T 3f� t I 1
1 

ill �i:.:t�f&ct � <f>T xfi'R � I 

53. 16+2-3-:-4=?
1. 31
2. 26
3. 15
4. None of these

54. 9+3-:-18x3+4=?
1. 30
2. 3
3. 13
4. 0

55. 28-:-36-49x7+2=?
1. 12
2. 10
3. 8
4. 6



56. 171x57+279x93
1. 250
2. 253
3. 252

/o 

57. 8+6-9x12+4

2. 7
3. 9
4. 13

\ 
l.b 

-I ' s 

�� 
58. When 12+�0=U05, 11+8

_
=8�5, 16+15 = ( 

1 ':_Y.._
/2405.

2. 105
3. 1025
4. 130

Direction (Ques. 59-60) In these questions, find the 

missing number in the number pattern. 

59. 268 (29] 210 � yt� 
218 [?] 166 

)?' 7 1. 42
2. 25

726 
4. 29

60. L\ ,. 

R 3 21 
6 5_ 25 

·-

12 2 ? 

1. 24
2. 19

y.i2 
4. 20

Direction (Ques. 61-63) In these questions select the 

related number from the given options. 

61. 9 : 80 :: 100: ?
1. 901
2. 1009
3. 9889

/9999 

13 

56. 171x57+279x93
1. 250
2. 253
3. 252
4. 0

57. 8+6-9x12+4
1. 5
2. 7
3. 9
4. 13

58. When 12+10=1205, 11+8=885, 16+15?
1. 2405
2. 105
3. 1025
4. 130

�� (™ � 59-60) : � � � 1f

� � aicf> q,J lfoT �, 

59. 268 [ 29] 210
218 [?] 166
1. 42
2. 25
3. 26
4. 29

60. 
8 3 21 
6 5 25 

12 2 ? 

1. 24
2. 19
3. 22
4. 20

�� (™ � 61-63) : � � 1f tfit�d 
� cf>T � � � �<t><Nf � �, 
61. 9 : 80 :: 100 : ?

1. 901
2. 1009
3. 9889
4. 9999



-

62. . 2 : 3 :: 23': ?

1. 25
2. 28
3. 46

/z9. � 

63. 2 : 12 :: 8: ?
1. 18
2. 128

/.396
4. 576

Direction (Ques. 64-68) Study the following 
information carefully and answer the questions 
that follow:-

Madhu and Shobha are good in Dramatics and 
Computer science. Anjali and Madhu are good in 
Computer Science and Physics. 'Anjali, Poonam and 
Nisha are good in Physics and History. Nisha and 
Anjali are good in Physics and Mathematics. 
Poonam and Shobha are good in History and 
Dramatics. 

64. Who is good in Computer Science, History and
Dramatics?
1. Anjali
2. Madhu

/ Shobha
4. Nisha

65. Who is good in Physics, Dramatics and
Computer Science?

66. 

1. Shobha
2. Poonam

/Madhu
4. Anjali

Who are
Dramatics?

/Poonam
2. Shobha
3. Madhu
4. Anjali

good in Physics, History and

• 

14

62. 2: 3 :: 23:?
1. 25
2. 28
3. 46
4. 29

63. 2: 12 : :  8:?
1. 18
2. 128
3. 396
4. 576

�� (� � 64-68): frlh-i�f&a ull-i<f>I�
"<f>T \:41-1i<f<t> � � m m � � "<f>T
�t:-

�mffl1ll�m�cx�1f3TW 
t1 3T� m ��ex� m �
� 1f 31W t1 ai� � m � �
� m �Rtsrtt 1f 31W t I � m 3l�
� � m 1lftt@ 1f 31W t1 'l.fll m
ffl1ll �Rtsrtt m � 1f 31W t I

64. � $Rh::1t1 3trx � 1l q;'r., 3ffUT � I
1. �

2. �
3. w:rr

4. f.1m

65. � �- � 3TTx � � "B q;'r.,
3ffUT � I
1. w:rr

2. 1flll

3. �
4. f.1m

66. �- $RH.m-l 3tTx � "B q;'r., 3ffUT � I
1. 1flll

2. w:rr

3. �
4. �

; 



67. Who is good in History, Physics, Computer
Science and Mathematiqs?

1. Poonam

2. Nisha

3. Madhu

,K Aniali

58. Who is good in Physics, History, Mathematics
but not in Computer Science?

1. Madhu

2. Poonam

67 qFtr6rg. dft-6 fr-nn,
TFrd t otr 016r t I

owqc{ ft-frq oli{

dH "ilR-6 ft-rn, Efd-6Tfl, rrFrd i 316r t
c-{E o.q{cq ft{H d Tfr?

1. qg

2. gFc

3. frcn
a. oiqfu

Hu (rw ri-{qr 6e-7r) , ft(.ry rrc}- d qrr
f+ofl ftq.rc t {q { e d{d \'6 furfl 61
s-d-fr s-& ftrfl qHt
69

1. Apparrel

2. Aparell

3. Aparel

4. Apparel

70

1. Commissioner

2. Commissionar

3. Comissioner

4. Commissionor

7L.

1. Etiqute

2. Etiquette

3. Ettiquet

4. Ettiquette

1

2

3

4

Trq
frqT
cc
siqfr

68.

isha

4. Anjali

Direction (Ques. 69-71) in these question four
optaion are given in each question out of which only
one is correctly spelt. Find the correctly spelt word,

69.

1. Apparrel

2. Aparell

3. aparel

i{ aPParet

70

4

1. Commissioner

2. Commissionar

3. Comissioner

k/Commissionor

7L.

1 ute

Etiquette

Ettiquet

Ettiquette

72. Which is the following is the same as wrestling,
Karate, Boxing?

1. Swimming

2. Polo

3. Ploe vault
q,4udo
^(

qhebho.

gc t t ot{-w esff 6{rt .ilr T{d eTfr
d-sTfr*r
1 +tr61

3.

4.

72

2

4

ffi
d"s q<

{d
Yh&\u-

D L,?
Psovro r,v.
Pt\,D

\l ts\o-
P srH

D (-,\\
Y*f,\,"



73. Which of the following is the same as Canoe,
Raft, WanSan?

t ,'oinghy
t2. shr[o,

3. Canopy

4. Submarine

Directions (Ques. 74-78) The numbered cells in the
square below have been filled with letters, the
columns and the rows are identified by the numberc
0 to 9. A letter in a cell is represented first by its
column number and then by its row number e.g, G
in column 3 and row 1 is represented by 31. ln each
of the following questions a word has been given
which is represented by one of the four correct
alternatives.

74. MIND

,,{rr,ur,rr,ru
2. 08,61,55,44

y'v,zs,so,rt
4. 73,33,67,17

73. {+t t 6t{ qr fr+E, vre. qirrq d-sr t t

dr,t
ilde
dqrfr
c-{-s6

1

2

3

4

Fr{rr (rw trwr 7a-rr; : fl-a ftg {c {,f {
6qrlo.-d t-a qrtl t qt g-{ € r otoq ft
cffi of o-g t qtrryrqr vrar I t *s { r.o
om qrd qtri qndq sqr +{t fu-r $s-dqfu wqr Ertr srrtfl.rqr tt acrflq d frc
'6'6tar fi{ dr qk \.6 t er em syrtqr
rrqr $1 ftqfufud i rt rdo rrc { 96 {r<
ftqr rrqt t ftr$ qn sS fto,-d'{ t ro em
strfqr.Iqr tt

75. JAIL

L. 37,05,75,44
2. 32,0s,87,96
3.35,23,26,33
4. 83,65,25,44

BLOT

r. 70,70,7L,22
2. 24,70, 26,48

3. 34,35,63,03
4. 62,25,57 ,9s

75

75. BLOT

JAIL

1.32,05,25,44

-{'lz, os. at , ga

3.35,23,26,33
4. 83,65,25,44

1

2

3

20, to,7t, 22

24, tO,26,48

34, 35, 63, 03

62, 25,57 ,95

0 7 2 3 4 5 6 7 8 9

0 1, L B P K N H S A E

1 M A a G T I o N U

2 R ) A X B E c I

T A U ll t_t J F

4 F o B M E G K

5 A C L J X R A A x T

6 P U E K L

7 7 D F H n
8 M I Z a E A U E S

9 P E o D E U a o C G

0 1 2 3 4 5 6 7 8 9

0 L L B P K N H 5 A E

1 M A a T o N U

H R J A X B E c I

3 T A U o N J F

4 F U B M G U K R

5 A c L J x R A A x T

6 P S U z K D L

7 Z D F o H o
Z u E U E s

9 P E U D E a o c G

,/
16

I

G

2

U

E

E

8 M

U

74, MIND

L. OL,61,73,36

2. 08,67,55, M
3.34,33,50,L7
4. 73,33,61, L7

H

N

U R

S Z D

o



77. JOKE

24 32,14,s6,44

2. 35,74,37,78

3. 83,63,40, s9

4. 83,7L,25,36

78. OMtr

x 14,34,88,ss

A 2. 63,44,88, 03

", 3. 79,09,51,41

4. 97,34,62,95

Directions: (Ques. 79-83) Study each of the
following tables and choose the alternative which
can best replace the sign of interrogation (?)

79

3 8 10 2 ? L

6 56 90 2 20 0

80

1 2 3 2 10 72

) L2 10 16 13

1 2 1 ? 10 24

81.

963 2 844
464 ? 903

Hvr (uw H-qr 7FB3) : ffifun
drtrdorcri { t rcio or 3rqq< o.t #r flfrq
gt ut qraru d sdo B) of voTrr sv t
cfor€nfud oq s6dr t

77. JOKE

t. 32,74,56, 44

2. 35,14,37,78

3. 83,63,40,59

4. 83,7L,25,36

78. OM|T

t. t4,34,88,95
7. 63,44,84,03

3. 79,09,6L, 4L

4. 97,34,62,95

79

80.

3 8 10 2 ? I

6 56 90 2 20 0

1 3 2 10

2 5 12 10 1b 13

1 1, ? 10 24

nO
"y

)L
.*-'

1. 0

2.34
4.7

5

11

.d,
4.8

t.L
2.2
s/,
4.4

1.0
2.3
3.5
4.7

1

2
1. 5

2. 7L

3. 13

4.8

81.

963 2 844
464 ? 903

1

2

3

4

7.

2.

3.

4.

t7

2 72

2



82

1 2 3

11 7 5

r20 45 ?

83. Find the value of X in the following figure

19

L7

16

15

19

17

16

15

82.

1 2 3

11 7 5

L20 45 ?

83. Find the value of X in the following figure.

ftflv (uw sqr al-s6) : ftETfufud d €
rdo lrr{ { qn qr< Rl .rs t ftr+i'rt rdo
fic qqrc sq Q sqr{ t *r den ltcq f; r

lqqq si Ai r

84

r. te
2. 3ITq

3. ilqfr
4. 3rrr6E

85.

1. Microscope

2. Telescope

3. Periscope

4. Stethoscope

9-.

1

2

,d

;x'a

1

2

7

4.

1

2

3

4

1

2

3

4

8

L2

L

2

3

4

3

4

12

Directions: (ques. 84-86) ln each of the following
questions four words have been given each of
which three are alike in some manner and the
fourth one is different, Choose out the odd one.

84

4

1. Apple

2. Mango

Y'water^elon,/4. Guava

85

Microscope

Telescope

Perlscope

Stethoscope

15 4

33 2

27 z

36 8

32 X

18 9

22 t7
L2 3

15 4
33 2

'r', 2

36 8

32 x
18 9
')') 11

t2 3

18

I

a



86 B6

88.

1. Commander

Ytcommodore
3. Brigadier

4. Admiral

Direction: (Ques, 87 - 90) ln each of the following
questions series of numberc / alphabas is given
with term/terms missing. Choose the correct
alternative that will continue the same pattern and

ffirr (e.rc 1T-qr Bz-eo) : ft]qfufu6 q'{q}'{
sstsrl/sutqrdr d ort d i"ft fr ,r{ t
f$rsl' EE qE R-ffi rd .rc t I irft-d ffril 6r
Ss ctDr{ qfi 6't fd ftff qE rri d sr(
d"ft or H (ursv1 t+qny €,

49 39a7. -.-.(...........).-920 86

,I, iFTIIg{

2 6fidr
g. BtE{n
a vsft{d

l9
42

20

3. 45

29

4. 53

fill in the blank spaces

49 3947. -.-.(._.._.._...).-9 20 '86

t7

1. 40

l9

/6
20

t7
40

3 45

29

1

2

1

25125

88

4. 53

23 4 5

Js 5' 5Js 25

6
-t=){5

(,..........)
{"7e-r C^J>

2 3 4 5,
..6's's..6'zs'\

6
7 _t=)v5

?/* 6

2sJt
6

7
4

25

89. O,2,3,5,8, 10, 15, 77,24,26,(.............)

1. 35

2.32
3. 30

4. 28

2

3

4

6

1

25

89 0, 2, 3., s, q, Lo,.Ls, 17,24,26, (
z1-'---- 

- 

-sv35- r q

2. 32

3. 30

4. 28

19



) '- . v' , ... 
90. P��, R�F, T�2 L, ( .............. )

91.

1. Y 17 0 '
y._ \'?rb

2. X 17 M
/x110
4. X 16 0

A man is facing north-west. He turns 90° in the
clockwise direction and then 135° in the
anticlockwise direction. Which direct is he
facing now
1. East

/west
3. North
4. South

92. Which one of the following statement is
correct with regard to the given figure

1. A and B are in all the three shapes
2. E, A, B, C are in all the three shapes
3. F, C, D, B, A are in all the three shapes

/only B is in all the three shapes

93. Arrange the following given names in the
appropriate order based on the telephone
directory (telephone directory) and select the
correct order.
1. Avdesh
2. Avadhesh
3. Awad�sh
4. Awadhesh

1. 2,3,4,1 
/z,1,3,4 

3. 1,2,3,4 

4. 2,1,4,3 

20 

90. P3C, RSF, T8 I, V 12 L, ( .............. )

91.

1. Y 17 0
2. X 17 M
3. X 17 0
4. X 16 0

� � cfiT � \ffix-qft-q.:r "$l' 3lR i cJ5
� cfi � "$l' � � � � 90° cf>TUT �
� t JtR � � � � cfi � "$l' �
� � 135° cf>TUT � � 'GITill % I 3l£f \Nf �
<ITT � � � "$l' 3lR %
1. ��
2. qft-q.:r �
3. \ffix �
4. ��

92. � � 1fC!' fil?f cfi � � Pts:.:ifc;tftla � �
�q)��i1

1. AJfRBclAT3llcfiTxT��%
2. E, A, B, C clAT 3TTcfiTxT � � %
3. F, C, D, B, A clAT 3TTcfiTxT � � %
4. � B clAT 3TTcfiTxT � � %

93. Pts:.:ifc;tftla � 1fC!' � cp) e,fc;tqi1-1 -s1��cf�
(� PJ��lcf>I) cfi � � 3lR clIB �

� � � 'cf>xT JfR � � <ITT "q1:f-i rITT I
1. Avdesh
2. Avadhesh
3. Awadesh
4. Awadhesh

1. 2,3,4,1
2. 2,1,3,4 

3. 1,2,3,4 

4. 2,1,4,3 

,..•



Directions: (Ques.94 to 95) are based on the
following alphabet series

ABCD E'FG H I J KLM N O PqR STUYWXYZ-i
Which letter is exactly midway between H and
5 in the given alphabet series

1. 1

2.M
3.N

Fr{v (uw €wr ea-nu; ' ffifud qutqrdr

uEran Irr sTrqrR-d d
ABCDEFGH IJKLMNOPQRSTUVWXYZ

dtc qr 3rsr A rrg q"iqrdr M t ffo xotr
sdqtaRrot
1. L

2.M
3.N
+. tqT 6)-$ srerr r€t t r

otc qr 3rex, dii Q zz it effiq sl}i dt Q
21ii 3rer{ d qtq Rar-d t

Hv (rr< vwr e71 +A frc rrc yr< t d
sqsl f+a t fu-< sr-r fur t ftr{6r Fqrd'
A,B,c gE D i I <i srsr fuai' I Ee vrn
.J"rq{ f r €;f,r ft* i t +e vrt fua glts
funn ff afr sqr.rar Erd .J"rqd d qi wrsr
tua{ilr
97.

94 94.

o such letter

95. Which letter is midway between 22"d letter
from the left and 21't letter from the right

1. 1

2.M
t/N
4.O

r
1. L

2.M
3.N
4.O

96. How many squares does the given figure have? s6. fr$ .Tc fu, q fr-ri a-,f t?

t)

7

I
10

1

2

3

44

Yc
2.D
3.A
4. B

10

Directions (Ques. 97 : ln the following questions

there are two problem figures followed by the
answer figures labelled as A,B,C and D. The two
problem figures have some common
characteristics/features. Select the answer figure
which has the same commonality.

97.

A

1.C
2.D

A

B

3

4

tr tr @@@

2L

B c D

1.6
2.7

y'.s

l,z

@ @

BCD



98. Choose the correct mirror-image of the figure
(x) from the amongst the four alternatives
A,B,C and D

en frre i,2.3 si-{ 4 t t 3nffr (x) sfr sS
Efu-rh Ci

98

a

,-\ /-l rl ro_/ l\-/ l\_/

x

11

10

7

b

A

B

99. How many cubes are there in the following figure?

D

99 ffi ftr rrq fr1 ;i ftffii s-i d?

4.4

c D

c D

A B

A

1. 1

2.2
3.3
4.4

C

C

1. 1

2.2
/t

,),
.2. 10

3. 7

4.6

1

2

3

4

1.A
2.8
3.C
4.D

x^
2,84
4.D

100. You are given a figure (x) followed by four
figures 1,2,3 and 4 such that (x) is embedded
in one of them. Trace out the correct
alternative

1oo. 3rFriri go cio-er (x) fuar war t ffi er<
en ir@ r.z,a sllr + dt t *S fu (x) s-+t
t vo t q+gs Efdr ttr& ft-rs or qor

a-{Tc

x

BA D

\ /^,

22

B

ffi M ffi ffi ffi M ffi

Y Y
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d q I ,a o o o L Z S 5ROLL NUMBER: BooKLEr NUMBER: 355

Scholastic Aptitude Test - 20tg

Time : 120 Minutes:
sqq; 129 ft{a Max Marks : 100

100lnstructions to the Candidates
Read the following instructions carefully before
you answer the question:

1. Answer are to be given on a SEPARATE
ANSWER SHEET.

2. Please write your eleven digits Roll Number
very clearly on the Test-booklet and Answer
Sheet as given in your admission card.

3. Please note and follow the instructions given
on the answer sheet for writing the answers.

4. Darken the CIRCLE with pen for answering the
question in the appropriate space against the
number corresponding to the question you
are answering.

5. There are 100 question in the test.
6. Since all questions are compulsory, do not try

read the whole question paper before
beginning to answer it.

7. lf you do not know the answer to any
question, do not spend much time on it and
pass on to the next one. Time permitting, you
can come back to the question, which you
have left in the first instance and try them
again.

8. Since the time allotted for this question paper
is very limited youshould make the best use
of it by not spending too much time on any
one question.

9. Rough work can be done anywhere in the
booklet but not on the Answer sheet/loose
paper.

10. Every correct answer will be awarded one
mark.

11. Please return the answer sheet to the
invigilator after the test.

+ !i{ l++ q6+ Rq ff*o} d qnum5h cQsr

l. ntr g6 q-{rr E .re-o qi A( vtgit

2. r;rT rqRr ro] or ta qqt tqr fr. srqd ylu qe fr
FI * *, a€ gfu6r at{ Trr sr6 y{ sgn q€
Rfrql

s. 1v+ um EFa al* * ftS Td{ T{5 cr €S ?rS Affi
6t rnr{ d 

"qs6? 
3ad u,1vr*n dfrqr

4. lnFT i[T r;n }} * frs yF d q,.c wrqr + qqq
oq< rvn w ril& e,) i-< i crm otr

s. w qter{ roo cr{ lr
o. ffi rrff sH sM I Eqftq;at l* qEq 5-{+ t

$ R yr.r d c-.d+ * dFnr q dRqr

qR q ffi yFolvat lfi ont * i v< crlgn
T.FI { .Fn{g uk srrr} qF qr ra qEqr qE qI? d dq
fr& * fu{ cF} d sc+ cEA o}s ear qr s{ yr y{
qrq( srqt y{+ Jfi{ t} q,l yqrs dfrsr

sm F( cr'rTi + frs ftrm.d qqc EEd ffAa l,
gsfrq Effir sfu*-dq 3c+q dfrs ut{ d+ s- o;
q( qE (ITC i ArIEgt

is or{ te gk+r { c,.ff A frqr vr vcar t, A-{
YAt T{6', ,r T 6Frg qt i&t

to. y&o q& rq-t * frs c-6 sE. 9-<r< frqr qrc{nr

n qvqt vtar * on cat q*o ftta-o d ata fffrqt

7

8.

9

sF]
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vn 6\Rr6T ot gwr & <f T{rt dfr €, qr6fi
o')Rro'r frft apn ssd <f<q olRror Erdt
{r+1 ffRd g"rmr d qEII{ Ir{ srfl t 3r<t
d il{q, XurffiI or sS mq tgr t'
1. qd-qgrfq dslf qgrfq

2. Gr{-ql{rrq

3. gftrfFq ffif ettf-qgr1-q

q{Rnvr ol frqI n di qrdr f.r{Rur t:
f . ilg fuf,{i qrqq t qa f+ccq flt4q t

qTtF. dr ffs{q
z. wq ft-+qq Tlufi t TJ fudfi qrE4c il

qTtF, dT FTrtT

3. ilg ft-f,fi qqc t sq ftaqq qlqq il
qel itrr ftwq

+. sa ftcqt qrwq t n-g ftau-t nwt il
qel if'l ltNltq

\rfi EIrrI c-6'R d olRroi or d-fiq fi fufl
fr htiEi r{Pi fdr t, rgo o.q wE *dr
trss *a tnr crq t:
r. *SffiE ffi qrfdor

z clSffiA ddmrq

a. cYdffiA d-r6

+. qdffia f{6

ctrcndr tt ger<rfi g 3,,-66 d er{ wrfs
M gv gr ft-qreff I 66o d ffifu(
1"it o) ?-€T - rtro frfdst gtr olProrcit
or g6 Gisf, f{q € r} fu{ i q.fr ofRrorc
so sst t g-q ft;gT{ t r& pi I {6 W ft-flnondrcrodt'
r. cRaililr s-irfi

z. orffio M o-co

3. detfrtet s-tr6

a o?ra ffi

lksemi-oermeable and Permeable

2. S€mi- permeable and SemFpermeable

;/ Permeable and Semi-permeable

4. Permeable and Permeable

2 The process of osmosis is the movement
across the cell membrane of:

1. Salts from a hypotonic solution to
hypertonic solution

2. Salts from a hypertonic solution to
hypotonic solution

y/w"t", from a hypotonic solution to/ hypertonic solution

4. Water from a hypertonic solution to
hypotonic solution

A poorly developed zone in the center of a cell

that has DNA molecule is called as:

1. Nucleolus of prokaryote

1 Nucleoid of prokaryote

3. Nucleus of prokaryote

4. Nucleus of eukaryote

ln a practical laboratory, a student while
observing the slide of tissue with the help of a

microscope, found a bunch of cylindrical

3
3

4.
4

shaped cells having
the category of:

1. Adipose tissue

Heart muscle

3. Smooth muscle

4. Skeletal muscle

interconnections belongto

1

1. A cell is having two boundaries, the outer
being cell wall and the inner being plasma

membrane. The inherent property of this pair

moving from outside to inside is:

1.

2.

4. gr{rlq f,eTt qr{r|El



5 Pteridophyte plants can be better described as

1. Non vascular, non seed producing

2. Vascular, non seed producing

3. Vascular seed producing

{ Nonvascular seed producing -/

/

lf a potted plant and a dish containing
potassium hydroxide are covered by a sealed
container made up of glass are kept in sunlight
for a week, what will happen:

1. Plant will grow taller

/ Leaf turnyellow due to no photosynthesis

3. Leaf turn green due to excess
photosynthesis

4. Leaf turn yellow due to no oxygen in the jar

Rings of cartilage are present in the throat

1. To keep the throat erect

2. To produce the voice

3. To prevent the air passage from infection

/a fo Wevent air passage from collapse

The process of excretion involves a sequential
arrangement of following organs:

i. Urinary bladder

ii. Kidney

iii. Ureter

iv. Urethra

f. i, iii, ii, iv

2. ii, i, iii, iv

3. ii, iv, iii, i

)f ii'iii,i,iv

The part of brain concerned with the precise

voluntary muscle coordination is:

L. ferebrum
/. Cerebellum

3. Pons

4. Medulla oblongata

t1Wer qlS of tfiR qnsrrfuf, 6r
*tq)d 6:

I q<Pi €TE{ s-f,6' \-d +q firi ol ersdr
iFr c d{r

2. wr$ €{6{ s-tr6'srr d{r W fi-s {fli
o1 er{dr 6r n d{r

e. qElei \{€{ 6f,6 ys ff-q e{ri ol sq-ar
6r fr{r

4 Tffi fiq6q 6f,6 sr q f{ \d fiu qqd
+t errfl or dcr

3rrN giF .rra t d dt) mn Cfi fu{r i
+ffiqq 6rffis o} vo t-e-qn t fra
ord qru d ffi fr Vo qwre 16 \rqr
urg d;
1. qh) +t lff q-d qrvrft

2. v6Rr €rds"r + di 61 s-qE t cFdst
ot ffor qsrTr

3. ,riFRr rirls"r d oTEo E}i of rqe t
cFrdi qrr rrflr En d qrqr

+. ffiqqdnrdi6awatcfuiu'r
ff-dr q€qr

qE-q Yftt d EqrH-{S d qrrq sqrfur coq
rFr iDT +I i :

1. 54rs{fr Ol €qr rq{r
z. tqfr sf,q{ s-{{r
3. T{rs{ff 6i riFrq"r t q-qr+

4. s-qrs{ff t srg qFf ffiil E)-i t q-qmr

qrTq i vtrf{ (ia cEnff d an gw
lMi or rS mq t:
i. Tffirq
ii.T@
iii.{rqrFff
iv 1*rf
f. i, iii, ii, iv

2. ii, i, iii, iv

3. ii, iv, iii, i

4. ii, tii, i, iv

qkqordfimtrwrtfusolcqa
t gE ffi +fr fiqr qcr;rlurTEfud qrsfl
r{rrq etar B:

1. IrCRf,S',
z. si-5qks
3. diq
4. tSdT

a

1

6 6

77

8
B

9

2
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10. Sex determination in humans is due to the
presence of:

1. Presence of X-chromosome in female

yZ Presence of only Y-chromosome in male

!. Formation of two types of eggs by female
,/

/ 
Formation of two types of sperms by male

/

11. The arm of humans, leg of horse, leg of a lizard
and wing of birds are linked to each other
because:

1. Structures having similar development but
different functions

2. Structures having similar function but
different development

3. Structures having similar development and
similar functions

rJwi q AFr6 tr< or 5c< 6puv | :

i. qr{I q Cffi (x) {uRI, 6r dr{r

2. s!ilii t d-{d sri (Y) X"r{, sr dqr

3. qr<r ii 6 son d B< or qaqr

4. giYit it d ron d sd or cr+

ffifud 3i.rt t {qr ft-orfrq sqr+or t,
r5w ol srq, *g d eirT. lM 01 eiq,
wt d q-t

2 qrT ffi 6rd €rqil \1o' fr q{ slErur{i
{irqqT ft-q

3. 3r.r fu{+1 qqT{tll fi{{fl Tq o.rd fi{{{r
c6d

4 qtffi $rETr{Wri{!-{rSiod{iqrT
ft'q d

il}f, d v6 3r5qRro-dT o-dfufr q-{

snqrR-d,T-t d lhii qs gm rd'r t qq C6
ffi (P) q^?i srd ad Crl d*i oi RS'-q (p)

qeit qrd dri ftl d*) t sts fuqT rrqT d
sr-d dvrq s,fi d crfl ffi qf, ei w 3rri
dt ct+rtq Esgrr.r A 3TTETR q{dd tB@c)t
sff 3tTT.iRrfi csran d *fqaqr qqr ffi ;

1. TTPP

2. TIPP

3. TTpp

4. TtPp

sifr d gfi dq qr t 84 qTq 6r E-qqrc Eldr
Bt ftq0-d #i A ffq yftiq dqr tr q6
tst Ec fu sifi ot qirr 1o.s rrqltff 3

t silr yftd'tro-dT 1.6 x 1o4otff t I

1. 0.4 x 10{O

2. 0.8 x 10{O

3. 0.4 x 10-80

4. 0.8 x 10-80

10

'r 11

12

13

-.(

3tr ffi oilqrcTl Tir.Fr go d qs

ord ft-q

t2

Structures having different development
and different functions

ln one experiment showing Mendelian
inheritance, a tall pea plant with purple
flowers was crossed with short pea plant with
white flower. All the progeny in the next
generation was seen to have purple flowers
but half of them were short. What will be the
gen e makeup of tall parent:

TTP P t
2. TtPP

3. TTpp

4, TtPP

,{

13. A solid cube of silver has a mass of 84 g. What
is the resistance between the opposite faces.

Given that density of silver is 10.5 g/cm3 and
resistivity is 1.5x10{Ocm. ( &i- o1

v-
A
I.\-
L
9\

tl
1

3

4

0.4 x 10{C)

0.8 x 10aC!

0.4 x 10-80

0.8 x 10'EC)

k- v
\-9 r1

k
'Lf\0'5=

L
[--w

3

.l
9 8W
fr

\



L4. Farsighted people, who have lost their
spectacles, can still read a book by looking
through a small (3- 4 mm) hole in a sheet of a

panel because

1. Because the fine hole produces an image
of the letters at a longer distance.

2. Because in doing so, the distance of the
biect is increased.

Because in doing so, the focal lenBth of the
eye lens is effectively decreased.

4. Because in doing so, the focal length of the
eye-lens is effectively increased.

15. The equivalent resistance of network of three
2f) resistors can not be

f. 0.67 , . ,. 
t'

Z20
1 ." I

3. 3C) v 'o..,. \
4. 5r)

16 The displacement of body as a function of time
is shown in figure. The figure indicates that

fuq frt o1 qm d q-qt 6{di t sil-r

ffiH qqqr qcqr q) ftqr. errff fr go dd
t (a-+ ftfi) d< d ts-6r cn grd-6 q6
t.o-i t {A +r-d o1 t-.F Pn-e t @tfu.

1. 3[6r dE dfr qfr qr qxfl-rt +t \'6 EE
vtrq 6'{dT tst

2. tsr o{i t, cS qff Eft qE qfr t r

3 t€T 6ri n, 3rt{dt d ttq fr Et6-d Efer-$
gqrff (,c t oq d qrfr t t

4 W +-{i t 3lttil d +s d Et6-d ffi
ql{rfi 6'T t q-.fi t t

61o ,eqfuiqqit d +e-i-d d qtr{t cmtr
c-€l d s6or tr
1. 0.67

2. 2{>

3.3c)
4. 5c)

wrq d tnrd d sq il aq or fr"elw efoS
q R-qqT Tqr B I qr6-.cl EFro oror t fu

14.

15

16

1. The body starts with a certain velocity, but
the motion is retarded and finally the body
stops.

2. The velocity of the body is constant
throuBhout

e acceleration of the body is constant
throughout

The body starts with a constant veloclty,
the body moves with another constant
velocity.

c
o
Eo
3
o,
.9o

L 23 4 Time

1 eE yo frR-{d tr * W *ar t. Afun
.rfr {E d qrfi t sttr {E d iis 6r
tor tr

2. trq 6r tq a.nars RQr< t
3. trq 6T eqq fttas €dr t
a. a*g fttm.Tfr t Ts drar t, +q or vo

3it'r ft{rr i.r d Hrar q-oar tt

c
(u

E
q,

!
o-
.9o

3

4

4

f 234 Time
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t7.

18

19

A bird is in a wire cage hanging from a spring
balance. The reading of the balance is taken
when the bird is flying about in the cage, and
when the bird is at rest in the cage. The first
reading will be

1. Much greater than the second

2. Greater than the second

3. . Less than the second

y'. Same as the second

A concave mirror is placed on a table with its
pole touchinS the bable. The mirror is rotated
about its principal axis in clockwise direction.
The image of a person looking straight into it

1. es in clockwise direction

es in anti-clockwise directionRotat

3. ls inverted

4. Does not rotate

A man standin8 in a swimming pool looks at a

stone lying at the bottom. The depth of the
swimming pool is h. At what distance from the
surface of water is the image of the stone

formed ? Take p as refractive index of water .

L'h t2. trh .!'

cfi cfr erid riild-i t oeod an ftqt t t r

* o6 Fhrt I w va t, sik E-{ o6 ffi
t onqrq o.q r-6r t d E-$fi o) qrq fuqr qrfl
tt qror qrq dqr
1 Wt t oi+1 Gr.sr

2 {Ht +1 ga+ i srfu6 Etn
o. Est i or
l. qstdvm

Td sRst rN ViF sltkIEI Efu IET ttm t
ftrslt vq-d gs of eli ed dro ga elcr
tr q{q ftqT d qct Tq gt d <rl n sd"r
gqrql qrdl tt wq qfu +1 6fr €t Esrt
ft-q Y& t
1. q.S sff Rvn;t qrdr t
2. 8.6 oT fft-< frrrt it qqdr t
s. rcagurt
4. qrdT T€t t

v6 ftEFtrT p d e-gr vo vr<fi {tr *
q-<en oi tear ttftqfi'q p o1 ratr{ htr
qrfi o1 wc-a i fu'q (t qr c-(?fl ol Efr
<-{r{ q{ t? qrff d 3rq-q-d-r q-d6To d sq
it p d alt
L,h

17

18.

'19.

,,.fi
)/-r'p

2

3

4

ph

h

p
p
h

u4.:--
h

"Erg tu' (Er (&r) or Irtrr Eyw fian
s'cq-6 t O.fr. fur5a6 a5q o{i d ftg fuqr
qror tt qc "wg Rvr eYfr Br

1. BTd qrltr+fi

2. *il vtra G eme-a qqrad-o

s. 3ffitr6 qrltr+fi',

4. Bf,d 3Tq{f,O

20zo. "Metal dishes" (Dish Antennas) are used for
receiving W signals from distant communication

satellites. These'Metal Dishes' are

;{ convex Reflectors

2. both convex and concave reflectors

Tl concave reflector

4. Convex refractors

5



27. Linear magnification (m) Produced by a rear
view mirror fitted in vehicles

ls equal to one

is infinity

ls more than one

ls less than one

22. Which of the following ray diagrams, show the
correct refraction of ray of light '..

atr glass

glass

water

glass

23. lf a symmetrical convex lens of focal length 'f
is cut into two parts along the principal axis as

shows in the figure, the focal length of each
part will be

Er6=it it dt qrq-qef (rear view) qfu ETtl

sGq fu-qr rqi s{Er *o orrotlq 1m1

1. 1 E}f,r tt
2. 3l"id Eiff tt
s. r t?rfu6*drtt
4. l t6qdf,rtt

F"q frfu'd fr;sur 3trtdt i t dh {Ir eiFRr
ol fu-i"T A crq-q-fr ol vfr sc t qcRfd

6-{dr tt

air glass

lass

1

2

3

2'1.

22

/

/

s

water

air glass

F}os Eff'rqr-d T6 qqft-a s-t-a d's'o)
fu, t Ecri-A orgrrx qi qnfl t gq era
o1 ftil d ore ftqr qrm t q-dfi qrr o1
hfrfl qft d,ft

eif-

3 3 4

I
f'

{'n
2. t/4
3.f
4.o

1. flz
2. f/4
3.f
4.o

6

2.1. 1.



24. Which statement is true for an eye donor

i' Eye donor can belong to any age group or
' gender

t
i.asrcoriqrdqtudft\frqtt
ot+sr oqrq ss t
i. t Erl o-ri qrdr qfu frd fr .ng c,f

qr fil?T 6r d soor t
ii. d qfu qcq or rdrrr utt d, ce i.e

qq rfi qt{ s6d
iii. qk +1 fq d a-6 urei d fi'd-r i,

ft-orrqT q-srq{qo t
iv. ta ffi of cbtr'r ti ro-ts frF-e or

qqq drrflr t
f. i, ii, iii

2. i, iii, iv

3. i, ii, iv

4. ii, iii, iv

ft-go ca 81 (loow-2sov) en"t fuga aa
B, (loow-2oov) o) zsov d do w fuI
t <ufi rgwx ratsr.ror t. fugo ae w
ft-a-qr furqq-rr Ein?

81

250V

1. 200v

2. 250v

3. 98V

4. 48v

gq6ts ei, d q,il-s t Td ftyr of d{
rlTq o-{fr gi-ffir 6uit of gPs6'r. <ftq
fr{T al 3tr{ frE}fu( d urfr Blg<-+to
f{ ot frsTr e

r qftur al *r
z. $ o1 eilt

s. ffa ol sir (otti5d)
+. uw d 3ft (s"d5s)

$R-6 3fiffir{s or qe +or t?
1. FeO

2. Fe2 03

3. Fe: Or

4. Fe2O

?

24

People who use spectacles can not donate
eye

iii. Eye must be removed within 4-6 hours
/ after death

iv. Eye removal process takes only 10-15
minutes

r. i,ii,iii
2. i, iii, iv

3. i, ii, iv

4. ii, iii, iv

25. Electric bulb 81 (100w - 250v) and electric 25

bulb Bz (100 W - 200V) are connected across

source of 250 v as shown in figure what
potential drop across electric bulb Bz?

is the :v SO
,"6-f\".,

WPf,;:r
*': 7V \

1.

B1

I

/\

\ 8282

250V

/1 00v

2. 250V

3.98V
4.48V

\,
t

1

,/n
//

J

26. A beam ofalpha particles moving towardi east
is deflected towards south by magnetic field.
The direction of magnetic field is

1. towards south

2. towards east

?y'downward
4. upward

What is the formula for ferric Oxide?

1. FeO

2/ FezOt
Z3. Fe. O, I-ni- *-
4. FezO

-3

26
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28 ln the presence of concentrated HzSOr acetic
acid reacts with ethyl alcohol to produce

Aldehyde

Carborylic Acid

Sulphur Dioxide

Ester

28

is also known as 29.

qir Hzsor o1 sqfuft t \dE-6 oTE, ckd
3rdot{d d qrsT 3rftfr-qr o-nn t aqr...............

Bqq qrTdT tl
i. qftsEr{e

2. ordfufufi srq
3. SdFl sncr-ffire
4. Tsr
fr.q n i frrt dfur. tw rt o-sr qrar t?
t. &srr{d sllE+frrsie
2. {reF-{ eEsfifrti-s
3. qr{tr€ 3fiwr{s
4 frPrr5d sHe

frnff il€ * enqq d 3 qars5 orin zz
rqqr{ dqT gs r+ qlrr it orcc {
Elqrc d €qr src qfffqgr

1

2

3

,(

29. Which of the following
laughing gas?

1. Methyl isocyanate

2. Sulphur Dioxide

lla Nitrous Oxide

4. Methyl phosphate

30. The ion ofan element has 3 positive charge,27
mass number and 14 neutrons. Find the
number of electrons in this ion. 

5)r.,A3 ll
.{ n r:

3. 14

4, t6

exposure to air?

1' A8'N

2. eSrO

3. AgzS and Ag:N

.xnx,s

33. Which of these shows Tyndall effect?

1. Common Salt Solution

2. )emon luice

;tr Mttk

4. Copper Sulphate solution

6sr d qrar srfu6 q{q dqr {qd n r6i A
orqq drfr d.rE=it d o.rd Eli d frc frq
I t wr ftr*sn tr
1. A$N

2' Ag'o

3. Ag2S and AgsN

4' Ag's

1l
'1.

2.

3.

4.

'13

10

14

16

32, A metal is strongly heated in the presence of
air to- form a black mass. The metal is ...........

/ Copper
I 2. Potassium

3. Silver

4. Zinc

Ir,' tr

31

33

32. \16' qrE 6)
qr .r{ fug
T6 rrrg i ..

srg
qri

of sqfuxfr d ersrBo eiq
q{ g.D 6rdi sredq fidI tt

r. eier

z. *tRrqq
s. qifr
4. Et-fifi

ftr{ { t wr Eo-ga mre 61 <vtfdr t?
1. qEIRUI qq5 ft49
2. fkor{fr
3. q{
l. oiw sd#e ffd{n

8

31. Which of the following is responsible for the
blackening of silver jewellery on prolonged

30.



34. Which substance is chemically resistant and
can hold aqua regia?

Ceramics

Glass

Plastic

Fibre

atq Hr rEpf {rqrqfto cfrrt$ t nqr ortrrrq
(ver tfu+1 o) rlo soen t?
i. ftift-tr
z. da
3. FTIE.F
4. rFl{cl-{

crff TrTi d ftc rs qrq ersfrq-q tls d wq
Xt il-e t srftfrqr o-ri d ft\ ffis{ +
furi qarqrr a1 erqYqo-fl dfi t?

1

4
4

35. What mass of Oxygen is required to react
completely with 159 of Hydrogen gas to form
water? -^ 2lr0

1/rro, 1U, '4C1 
r

1

, 
y'\-

1lw

1. ThermalDecomposition

2. Calcinations

3. ,lsomerism

1{ Rancidiry

1

- $,,|,,.i- arlu
'-,y'o
' u-,

36.

1. 120 ,qTq

2. 107.5 Tl\
3. 132.5 qFI

4. 112 7fiq

ftq i * fu-s e-flpi q{ 3rc 6r{9rqdft{ srq
srdt fi oIIs e-ftT{ndT it oT+{
e6dar6s tfe wqq or* qrrt t?
r. qd d o"r
2. 5iu-< q-Se d s'ur

3 €?rwri d go'g
4. sI+ftqq ffikr{s

*es 6'r frxrg tr
r. drer oitt crw
z. drsr slt{ frsr
s. frsr sitt crq<

c. fisr sltr E{

2. 107 .sg

3. 132.59

4. 1r2E

.J--St
i.S

9
)r'

35. On which of the following substances will you
pour Hydrochloric acid if you wish to prepare
carbon dioxide gas in laboratory?

Zinc particles 
ib. I l,r i r ,-!

Copper sulphate particle

Pieces of marbles

4. Ammonium chloride

37. Solder is an alloy of _
1. Copper and Mercury

2. Copper and lead

3. Lead and Mercury

/ Lead andtin

38 t is the formula of Propanal?

cH3cHrcHo

3

CHgCHzCHzCHO

CHsCOCHu

CH:CHZCO CHZ

39. Shweta went for a journey by train in June
2018. Her train was to depart at 7 am. Her
mother packed'Bread Pakedas'For her lunch.
However Shweta did not eat them till evening.
ln the evening when she opened her lunch box,
she felt an unpleasant smell. The taste of
Pakodas was also sour. This happened due
to

38. frti-s or qr @T t?
1. CHTCHzCHO

2. CH3CH2CH2CHO

3. CHgCOCHz

4. CH3CHTCO CH2

39

1

2

2. ,

4

q{ 2oi8 it {idr i{ drir V6' ql{r !-{ T{ |

vsm i{ g-qe z cG rqffi ffi frr t-s-d fr
i Eiq d ft\ s-r-+t ns c61g to oq f< r

q{g yfdT srTq aiF fi s-€ sr T€t .n{ t snq
ol qc ssi Eiq ditr d'ar dr e-s{ i ac*
on {6 sfi I fu qsi9i d srs i rfi qerq afi t

{s-d di 6t tFRq erT l

r sufrq ffiqq
2 fttalqrr
3. Sqltr{frt

a. @tuor
9

35.
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40

4l

42

44

Symbol
Te
Re

Se

Xex
1. ..Te and Xe

2. Se andle
3. Re and Se

4. Te and Re

Atomic Number
52.._

75

34'
54

Which of the following elements will be in
Group 16 of Periodic table?

\'e
Y.r 40. ftq i t dtq t ae 3nsd qnlt d S-s6n

zq n dt?
{srqB-o qd-6

Te

Se

Xe

1. Te and Xe

2. Se and Te

3. Re and Se

4. Te and Re

4'l ' ffiq sfiF Tf,{te'fr-s i ftqr?
r dqrosS
2 fr-{ f6
e {.tFfll
4. g{ xvr

42. g.g <ts {ffi B-q.if o1 q.r6 {r{?.6
vqrit o\ s-6rsr t{r qrrt e} t g{ or rirlEr
fu,q ivr t en?

1. lS15

z. sfs
s. siq
l. vcff

43. vs 3refYnd 6r qFr q-drg fta-si yo qn
trcdr d +rr oiti ePrqrif qq qrr tqr q
s{ 6{i of ran fi frt
1 ql.q-ft fuen
2. ETcfqR YIfqfl

s. 3[+c frq{
4. \r{{r oiq

44 erNt rm qrrf, t s{d qtrdr r;r q-6rfrtrr6
frfl d ffT6 fr-qr rrlfi?

r. frd qa
z tftw qfuq
s. srq'Eq tR-s
e. gq.gs. Frtr{

wqrS Fqr6'

52

75

34
54

Re

Who wrote the Two
Government'?

1. Jean Jacques Rousseau
y'Johnlocke

,3( Montesquieu

4. Louis XVI

Treatises of

43. Name the economist who had once advised
Hitler against, in vesting in rearmament

L. Pstot Niemoeller

lZ Hjalmar Schacht

3. Ernst Hiemer

4- Erna Kranz

Louis Blanc wanted to encourage cooperatives
and replace capital enterprises, Name the
country to which he belong?

1. Russia

2. Germany

)( France

4. ltaly I

Who was the first lnspector General of Forests

appointed by the British in lndia?

1. George Yule

2. Verrier Elwin

f Dietrich Brandis

4. H.S. Gibson

10



45 'Chapkan'means

,1 a lonc buttoned coat

2. a type of turban

3. a western three piece suit

4. phenta (hat)

46 Who introduced opium into china in the early
sixteenth century?

1. Britishers

2, Japanese

3. Russians

fi Portuguese

47. Who was the Austrian Chancellor when
Congress of Vienna (1815) was held?

1. Giuseppe Mazzini

uke Metternich

3. Giuseppe Garibaldi

4. Otto Von Bismarck

48. Name the two imperialist, countries against,
which the nationalist Vietnamese fought?

'1. France and Britain

2. Britain and Japan

,/ laoan and France

4. France and Germany

49 Who Formed the Swaraj Party?

1. Jawahar lal Nehru and Mahatma Gandhi

2. Jawaharlal Nehru and Subhash Chandra
Bose

3. Jawaharlal Nehru and Motilal Nehru

/ votilal Nehru and c.R. Dassz
50. Which two new colonial powers joined

European powers in the process of carving up
of Africa between themselves at, Berlin in

lry?
y'. erita,in and France

2. ltaly and France

3. Belgium and Germany

4. Britain and ltaly

qqrq i ,rrs t-
1. trcrr<R FiqT Otd

2. \rO E-{6 Ot q.r.S

s. qM efr-qrs W
4. s-er (d-e)

Aq t orstc'o1 gsom ffit srdr€ d
qiw it fu-s t a1 aft?

f. i.-d-s
2. S4fl
3. 15'{I

Tffii i

45

46

47

48

49

50

4

181s d frs"fi r{B d qqq 3rikqr d 
"'is-d1fi Qi?

r qtfr ifrs-fi
2. s,{D t-tftq
3. q+E rtft.ffi
a. efr-d.f-{ M

vq <) Hrqrarqrfr dt d crq q-drc fu{ d
fus-€ ffi rgorfi atr
r mis 3ti fr&
z. ft|c stq wqn
3. ulFtrFt 3li{ IEiw

a. mie ellq qtrff

o-q1o qrd or.rac fr-s i frrqr?

1. vqrf,r drd i6s s)r {6rflr rfi$
2. ucnrt drd t{t) eir gqq 4 4o
3. Eqr6r drd t6s oir qiff drd +6G

4. +ff drd tf,s 3ir S.ern. <rs

t ot'{$ q};r{ ffqdRro vrffilqi et, B-€ri
1885 q sfth t {tq d erq erqra+s tqrt d
srpr fra-w 3rfi6T 61 6olt dtq o-{ orFRr

n qrsi d ftc .{rr fus'rz

r fa-|c *i Fis
2 gfi 3lk s.iq
e. tfrGrqq 3lh qtrff
+. fa-ic al}t {c-ff

11



51. What, does Proto-industrialisation mean?

1. Tlgfirst, and early form of industrialisation

if. lndustrialisation after 1800 C.E.

3. lndustrlalisation after 1900 C.E.

4. lndustrialisation after 2000 C.E.

52. Who amonS the following authored 'Godan'?

1. Rabindranath Tagore

Z/Prem chand

3. Bankim Chandra

4. Srinivas Das

54 The name of the autobiography written by

Nelson Mandela is

1. Robben lsland

2. The long walk to Freedom

3. Blacks

E/ Aparthied

55. Who appoints the judges of the Supreme Court
and the HiSh court.

1. The President

2. The Prime Minister

3. Ihe Chief Justice ofthe Supreme court

1y'tn" president on the advice of the Prime- Minister ad is consultation with the Chief

Justice of the Supreme Court

56. Kosovo was a province of 

- 

before its

split

1. Vietnam

2. Zimbabwe

Sri Lanka

Yugoslavia

ffi+Tqlifrfivr t oTftqrq t-
1. q6fr qT qrifto sii*rfto-iur d frft
2. lsoo {. d srE oI 3t*n-fiq
3. leoo {. d erE 6'1 3l}s}i-flur
4. 2ooo {. d erE qtT sltehi-6'$,I

".i-ff{ a iq6 +{ s}?

1. {ftfirQr tri-t
z. iq=iE

s dfu'q "i"4. ff ft-{rs ERT

i-fr-{ ritdT qi onfr?rarr 6r @n irlt tt
1. tf{ sTr$ds

2. ft dirT dfo qfrsr
o. do-s
4. 3ICRelrs

sqtq qrqroq sllt qa qrqmq + qrqfiYil
o1 FrCk ft;s-S srr of qrff t?
1. YrEqfr

2 !ql"Iq*
s. s+a qrqmq d gq qlqfivr

4. Yrqcfr, rqr{ri* stri q-+q qrqrf,q d
5q qrqfisr sfi sf,r6 qr

offi fuTq-{ i q-rd *-*-*-*-x tcr 6T
lfwr sdr I

r frqo-qrq

2 ftffirqi
s. 8fider

+. g.ffiqr

51

52.

54

55

56.

3

.r

53. ln which country women do not have the right
to vote.

1. Estonia

2a saudi
- r. rili

4. Mexico

53. fu'fl tyr it qtrdrit 6) +c ti or otfuon
CrE Tfr tI
r. \'dftqr
2. Ss-a 3ffE

3 frnff
a. {ftn-dt

L2
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57. Which language was recognised as the official
language after independence in Sri Lanka?

1. Tamil

2.)indi
2{. sinnati

4. Telgu

58. Which country does not have federal system?

Belgium

lndia

Myanmar

The United States of America

59. The _ legislates on residuary subjects

Union Government

State Government

Local Government

President

61. Which of the following statement is true

)tr Elnino is a Greek word meaning the child

2. Presence ofthe Eln Nino leads to decrease
in Sea {urfer temperatures

3. El Nino is a name given to the periodic
development ofwarm ocean current along
the coast of Peru

4. I TCZ is a broad trough of high pressure in
equatorial latitudes

62 Maldives lsland are situated to the
Lakshdweep lsland

.71 south

2. North

3. East

4. West

of

60. Which on of the following regional parties is
associated with West Bengal?

1. Lok Jan Shakti Party

/24 lanata Dal

3. Fonrvard Bloc

4. Democratic Front

aiciol d EiiTdr d Er< fu-s qrqr 6l
3rtro-rR-6 ?ilcr d sc t qrqf,r cr< E€?
1. dBd
2. fr-€
3. fu6ff
4. tgr

E{.t t fu-s tcr rifrq qfier rfr crE qrfii
r. ifrwqq
2. qRiI

3. qtqn
4. rigffi trg ortR-or

ts ftq-di q{ oris ffifi 61 3Tk+.R f6'S
crF t?
r. d< sron
2. trq stttrrt
3. Terftq 51-qrR

4. tIEqfr
{cq e'6t{ sI ffiq <a qffi drn-d t
BEftrd t?
1 dfiq{sftora
2. u"tdt <EI

3 sffid6
r. #fuo rn-e

ffitudttdt{s6we-fit
i. \'# v6 fio qr< t fu-ror s"?i t sqt r

2. cm+ir tn1 sqfuift t wga aff e-ae or
rrqqn t sfi 3Trff t

3. eiq ts qEr qRr d *eTr{ w snqrfr dli
w rd qdtrrcr d ft-6rs oi 96qq -qrc kqr.rqr tt

4. eid BUr ofu*fl=q efd frlFrfrq 3rmi il
ft-qa.ro Tm va q* or A-a t';tr tr

1

2

4

57

58

59

60

61

1

z

3

.r

62 qrd-frc frc ds$c qTr d
1. <fuul

2.B t
3. gf
+. ckqq

3ir furd d

13



64. What causes rainfall on the coastal areas of 64

Tam adu in the beginning of winters

South West monsoon

2. Temperate cyclones

3. North East monsoon

4. Local Air circulation

63. Which of the following not a nuclear power
station.

X Kai$a(
2. Narorr

3. Korba -,2'
4. KakrOBart/

65. Which of the following two extreme locations
are connecting the east west corridor

1. Munbai and Nagur

2. Ahmdabad and Kolkatta

1./silchar and Porbandar/4. 
Nagpur and Siliguri

66. Match list 2 (River) and list 2 (Dam) and select
the correct answer using the code given below

tist 1 (River) List 2 (Dam)

A. Narmada i. H irakud

B. Kaveri ii. lndira sagar Dam

c. Bhigirathi iii. Mettur

D. Mahanadi iv. Tehri

ffifudttdtqqrqffi+efrqr€yn
c-fr tr
1.6rV.tI
2. Ttar
3. OtrqT

4. IDIiF'TFII{I

nfrd-flEd dfiq qFTf t sfrd EE d cnr{ i
qqi di or rqr 6nur dI
r. sfurr ckqfi ql{q{
2. ffiEr rfrErd
3. sfl xff qrflI{
4. {Qrrftq a-1 €mt

FE'ii t ot{ t d Wrar furd ern 1fi
qtrsfr rrfuqrt t S_t t
r. 5c{ *t rqr
2. 3IEITEI.IK 3Ih o.Yd.6_T

3. frs{r ailr q)-*isr

4. ir.rg{ oilr fuftIg-.sl

drk6r 1 (r-fr) d drfuoT 2 (dq) d qer
ft-srsg den ftg .rc 6ts 6r q-d'T o-{d Eq
wS r+s or qrrq dfrgt

drtuor (r-fr) iftor (dq)

A qfqr t. R{Es
s 6rtfr ii. qfr{I sr.N EiEr

c qrFrieff iii. t-^r
Dqdl=rfr iv. fif,fr

drd T{r 6r \rrr drd fu-s orqq e-+ot t?
r ai of o'-cr{ olfr

2. qlerYr 3N ffitrqq di d or<q

s. {iqn 3[r"fu si-i wioBo trc-crn t +6
urqd g-sn d orw

4. drqrq{6 giat d e-{i d 6Rq

1. A (i)
y'ati,l

/r. o(tl
a. A(iv)

B (iii)

B (iii)

B (iii)

B (ii)

D (ii)

D (i)

D (i)

D (iii)

1. A (i)

2. A (iv)

3. A (ii)

4. A(iv)

B (iii)

B (iii)

B (iii)

B (ii)

c (iv)

c (ii)

c (iv)

c (i)

D (ii)

D (i)

D (i)

D (iii)

c (iv)

c (ii)

c (iv)

c (i)

63

65

66.

6767. The Red soil develop a reddish colour due to

1. Deforestation and over grazing

2. T-he presence of Potash and magnesium

/ Diflusion of iron in Crystalline andz 
metamorphic rocks

4. Formation from the lave flows

t4

i



58. The longitudinal extent of lndia is.

7. 6907',Eto97025',E

2. 6807'E to 98'25'E

;{ 6Bo7'Eto9toz5'E

4. 6807'to 99025',E

69. The _ is a longitudinal position of a place

where the local time 12 Noon when it is 7:30
pm at Greenwhich.

1. 113.s'w
z/ttz.s'rz3. 112.5.W

4. 113.50E

7Q Nokrek Bio Reserve is situated in
of lndia.

1. Assam

2. West Bengal

)4 Meghalaya

4. Sikkim

state

71. Boundaries of which of the states does not
touch Myanmar?

1. Mizoram

2. Meghalaya

)a Manipur

4. Nagaland

72. Arrange these hills from west to east

A. Khasi

B. Garo

C. NaSa

D. Jaintia

y.c, A,B,D

"'2. D, B, a, c
B,C,D

A,D,C

National consumer day is celebrated on_
1. 24th March

7 ,O'n December
/ 3. 24th september

4. 24$ November

qr{-d 6-r tYiHfrq ft-wn aqr t?
1. 69o7'Eto 97o 25' E

2. 6807', E to 98"25',E

3. 6807'E to 97025' E

4. 6807't099025',E

95 urJr6 fus or *errffq slrq <)q6r d tz:oo
p, B qe fi{ fus .nt rrrrrl 7:30 pm i, E+t
qrr6 of t{nmfu furfr dfir
1. 113.5"W

7. rL2.5'E

3. 112.50W

4. 113.5"E

T6t6 fiqrisd ftqq qrrdd trHI
t turo tr
,I, 3TI$IH

z qR-qq dqra

a. tqcrq
+. ftfuq

ffifud d t fu's qrq fr ffqr qicR t
rff a.rfr tr
r. ffirq
z. tqffiq
s. TfrW
a. iln-d-s

gc r6G{it o\ ctrsq t gd d aw
oq-{€ oi

A.stfr
B. TTRi

C. qITIT

D.q{iftqr
1.C,A,B,D

2.D,B,A,C

3.A,B,C,D

4.B,A,D,C

{r$q Bqd'ffr ftqs ..........6} rqrqr qrrr d t

1.24 qd
2. 24 ft{i{{
g. z+ ftdEq
4. 24 lrirN

70

68.

69

71

72

3. A.

N
73.

15

73.



74. Money in hand is an example of

1. Human capital

Z/Fixed caoital-/
3. Working capital

4. Physical capital

75. Non market activity is_
1. Selling the product near by temple

y'2f,ellingthe products through the regulated
/ market

3. Producing for self consumption

4. State of unemployment

76. Calculate the female literacy rate from the
given data

Gender Total Person Literate Person

Males 10s0

Females s80 360

Total 1780 1410

EI'q t Tdt or 96 sffflq d
r qrrq tifr
2 3ffid (fr
3 5rqoru r[fr
q tifto XS

tr erqru tu-qm-arq f+nfrtu( d t tut
o6i t
I trSs d t'fu t snrd qn n-fir
2 ftdhd qr-sRf d qttqqt uslE) 6) is-rT

3 ssqlt{r d frq sd-q 6{{r
+. ttffi o1 Rrfr

ff'qfrfud rsrtofi t qB-cn qrq-rer a1
Tolql 6t I

ftiT a-a qfu Hrw qfrfl

c$s 't200 1050

ctrdr 580

6cI 1780 '1410

7. 52.0%

2.28.60/0

3. 25.8%

4. 20.22%

ffrff An of PETr al yr+cr fu-s qr frfr
T€l 6rff
1. FTeI{dI q{
z. fuoFs es

3. EISerq 3iiNeII

4. d.ii gnr ot{rd or orftq-aq

ffitudqtdHSGtfrcnsQd
gn urfr orfi t
1. qr{frq ft.trrs t-o
z. foo riaroq
g slFrq dartrq

+ sIFrfu d-6.

qr*a d qTEffq drff{r fu-{ s{ Ts g{
1. 1 7

2. 1551

3. 1S48

4. 1950

74

75.

r.,
'5'.-76.

tlY(^.\'tt,f)'
L. 62.0%

2, 28.6%

3. 25.8%

4. 20.22%

\os-i| -*'e*il
Kfr,I

77. The Quality of Education in a country does not
depend upon

1. Literacy Rate

2. Growth Rate

3. Health Status

;/ Aceuisition of skills by people

78 Which one of the following agency issue one
rupee currency note in lndia

12( leserue bank of lndia

2. Ministry of Finance

3. Commerce Ministry

4- Commercial Bank

79. ln which year the first five year plan started

77

78

1,

2

,/
A.

7947

1951

1948

19s0

16

79

360

1200



Removing barriers or restriction set by the
government is called

X Liberclization

2. lnvestment

3. Favorable trade

4. Free trade

s{iFr{ ERr erqK}it 3rQIEr cfuiEr 6} Edri 6}
66r qrfrr t I

1. g<rQ-f{sT

2. fticr
3. srgEcl qFlrt

4. 5ffi tqrlrt

80

6t
A! Ifb

80

1+ SinA

-+
1- SinA

1- SinA _ ,
1+ SinA

1. Cos 24

{ 2 secA
n

3. 2 tanA

4. 2 SinA

1, L2 1

2(3x+4y) 7(4x-3yl 2

.{l--tx +lrY
t t-' rLt" -rty'29x'9ks,
- v\ -- 

nP*
'-y', | ' '/'/

ff \r.} D +
Lss B\

r-ri$- onlq

L + SinA

-+
1-SinA

1. Cos 24

2. 2 SecA

3. 2 tanA

4. 2 SinA

1 - SinA

1 + SinA

)i

I
-tr' Y

a
o +q

.\
1 12 1

+ I
1.- tqb =L
I r 9'-i
L-*

2(3x+4y) 7(4x=3yl 2

74
2

83

(3x+4y) (4x-3y) ,t). tr-l (3x+4y) (4x-3y)

Findthevaluesof xandy L)- 3*, ,.". ,frt y.F-I .{FI 5fd frfuC qR 3x+4y +O,

if 3x+4y *O,4x-3y+o ' b=i i":^,-l:'\ +x-3y+0t I

.,/ +qq t6 :L- , ,- ,uu 5 re : rr rrroT t. *=4M . u =9.y''*=E'Y=E * ;';'::-?r:1rl^-) 
- ^' zs' '- 25

z.x=o,y=L -,._y-)) 
$.r:-r1. z.x=o,v=L

. . 16 . 256 """/4.,-.', '', 3.,.=19. r=256r. x=-. v=- Q{. q + rA .. ^- 25, '- 252s 2s ,l - u ulro
4.x=2,y =2 ' *' "t5 4.x=2,Y =2

4...'>l
\

A gardener wants to grow some plants in a 83. V6 qrfr ql-II t EE dt) gn-qr qr6f,I tl qR
garden. lf 4 plants are grown extra in each row, rdo Eh it + dt) eftkm gqry w(, d
the number of rows will reduce by 2. lf 4 plants ^ Ek"it o1 €qr 2 o.q dr qtg,fr t qfr g-dd
are grown less in each row, the number of i Ek tt a d$ oq B?rrg qr(, fr qkqt tff
rows increases by 4. Find thetotalnumber of t.Ji tiqr a erfuo d qrVrfi f (,IrIg Tq g-d +it
plants grown. *rf ' , ,,\t \ . ^+t 

€qr srd of I

1. so r@ _X,w 
' J,. ,o

";''iii 
,,**\tf'$-'"I]ll/to-r'4 96 .-r. 
"- fr .x\to o 4 eG

*\,. ;"j ".*_ ,, .}1\ 0

-R\ ^.--\b.92

81. Solve. s1 ra otfug;

82.



a--

is (y-z

q

,
,1

84. The sum of all sides of a cube is 9cm. The
volume of the cube is

3
-cm4

Cm rr +t slff Tqrcrt or *q st.fr. t r tr{
6T slrrkt=I 8................ t

3
-cm4

84

1 1

2
81

108
^ 81
2, 

-cm'108

27

-cm64
,fi,' 3

85

88

4
-cm32

lf x:Y = 3'5 ,n6
(y+z) equal to?
y' ztzt,
2.27/46
3. L8/46

4. ts/46

x:2 = 5:7, then what

) a -a

.,'-*+L ,,'
*t "<ol 

I''t

1t
/\
?1 i'T

?t=

Y,1)"?
) :',t 85

-^Y*
v) ',r

,5t
i'/*
.t

4
27

-cm32

qft x;y = 3;5 ellt x:2 = 5:7, i, A) (v-z)

fu-sd qqr+q drn?
1.2/23
2. 27 /46
3. 18/46
4. 15/46

ri\

(V*z)
t-7F,,

9-\
/<,3),'

?\

86. Find the Value of m-n in the rectangle PQRS. 86. ellrtfl paRS ti <5t m-n EFI Em dfuC I

nY \x\

o(6$\ ,"i-1fl
,t,Y,,

1r!

.^t$
o

P
Xx

1

2

3

4

-2

-1

1

1

2

4

4

-,1

1/

87. A pair of equation x = m and y = n graph llv tfum {ff6-wT grqf x=6q i6r y=nqrp-ftq
ftsqqiMtd........
r. (n,m) w qfrid< o-{fr t I

z. *iqrff t r

e. sqias t r

+ (m,n)q{ qffiE ceff d r

qft x= f + cos A, y = cosec2A, z=1 - cosA, B.

d (xy) or qrq 8.............

1. CosecA

2.7
3. 1- CoseczA

4. cos2A

87

represent lines which are_.
f. intersecting at (n,m)

2. coincident

3. parallel

74l.r- intersecting at (m,n)

lf x = 1+ cosA, y= cosec2A, z=1 -cosA,then
the value of (xy) z is_

\3

(l -u".'e)(c"ule)

)

88

1 CosecA

I
1 - cosec2A

Cos24

/'
3.

4.

18

I



3('- d 3o +to it,-k ,J
s k--Sp - 5kz eo- s,( 

; 
j;'"

se. A rr{ sig-dr inr {9il6 go't t x 6r qrc srdThe mode of the given series is 35. Find the
value of K.

Class
rntervaL

0-
10

10-

20

20-
30

30-
40

40-
50

50-
60

60-
70

Frequency 7 6 K 16 12 8 10

10

15

20

30

lf x + y + 2 = 0 and x * 0, y + 0, Z+0, then find

the value of x' *Y' *z'

-k
l{ -

L.

9'r

6o
oo

90

'10

15

20

30

dfr\t
Class
interval

0-
10

10-

20
20-
30

30-
40

40-

50

50-
60

60-
70

Frequency 7 6 K 16 12 8 10

r 1

4

2

3

4

90. qR x+y+z=ot St x*0, y*0, Z+0, i\
x' *Y' *z' - ,lq EIrd elfrc r

B-qr ; d \.m 3EE6d aiafo 61i qr91. What will be the area of the largest triangle
that can be inscribed in a semicircle of radius

'r'
16

1 L6 12

f'

64

r'

92 From a face of a cubical wooden block, a

hemispherical depression is cut out in such a

way that the diameter of hemisphere is half
the edBe of the cube.

What will be the surface area of remaining
solid?

1.0
2. I
3.2rt

32

,/*

yz xz xy

Af ''Y'-'-
' r:jY'

3*lb

yz xz xy

't. 0

2. 1

3.2
4.3

) *q 2'
'-"4-

.r

a
2

3

4\J;,.$
7"

2

3

4

s6i qd s{d {g fuu or ebua dr

L. L6 12

256

96 rFtFFIq qrm d w wco iF,t sicq ol
frr t orc ?Er \'6 \'6 srdrr)affitq qlT Eq
q-6'R iFrer.rqT t fu er+'m tlr d fuqrt ET
sTrqr tt iN ci dq oT y$q etflE-d srd
dfrrl

l'(l' + 4)

2
2.6412

r'
64

r'
32

t'

l'z(lz + 4)

2
6412

l^(

L9,

,qr 'J

"( 1

1

2.

3.

1
24(n+

24(n+!l
4. 1r(r+s6)t

Urt
/)t

4

r)
L,

J1
tl"

4
,/'IA* l'?(n+95)

# -\qy
A
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93. Rahim sells apples to his customers at the cost
' price itself but uses a weight of 8009 instead of

1kg weight. Find his profit %

@:
| 111

t}dsx
l)zro"t"

3. tS o/o

4.30%

@"7''){

1. PR2

2. zPd-

3. QR.QX,

4. 2PR, + PCF

lr-'to"
31,\1r o

.J)(#)-'
i+t +t+L

x' 'x'

i. n r-1=r, then find the value of *' +1xx'

r&q 3rqi qrf,d 6i fi-q T@ w g €q iq-dT
t vrg r ftlt d q-.ca d tonq q{ sse qrq $
ci or sq-ftT orar t t vsor anr cfrvrd ild
dfr\l
1.25%
2. 20%

3. 't50/"

4. 30%

qR ,*l=sal ,'*{ot qq Htd dfuq Ixx'
1. 1330690

2. 1310330

3. 1330670

4. 1310370

uR w rrqfu{ {irq'a' d z t Eqfuo
fuqI qrq d tqq-d 6}qr s qfr \16 q.rqfufi

riel's' 6 z t fr,nfuo fuqT qlI d itcqrd
t}.n s I a +u o) z d foilft( fii qt trss-d

'r qrq +.nt 3r+5 sr crc Hrd fufuqt
4

1. 7

2.2
3.8
4. 11

zorz il rqo or to-c r.zz,too att I sd' 2oi4 t
ssor taq sfr ?r{ a'ryr, ro.rs qt{ +o cfrcrf,
E6f,r 2o'r7 d t-a-c dfi qgq ,rq t q{ zort it
sror toc fuil{r eil
1. Rs.95,000

2. Rs. 1,15,000

3. Rs. 1,20,000

4. Rs. 1,00,000

Bgq APaR ti pxrqn t I pe,+eR.- 2eR.ex
u, 

"6 
916 frfuq I

93.

e lliltoo

--l )1q1o o
r'{ r,

.. ll
-{;

.4

94

95

96.

97

S;rtzoaso

ry;ry,"2. 1310330

3. 1330570

4.7370370

ftr
95- lf a natural number 'a' is dividedbby 7, the

remainder is 5. lf a natural number 'b' is divided
by 7, the reminder is 3. The remainder is 'ri if a +

b is divided by 7. Find the valu" o1 
911! 

-..4 .(. '

L.7 o=7rlS
'^iJ.'i*

,ot$

*{
'l

q

,y,

rt
3.8
4, LL

96. Rajat's salary in 2017 is Rs. 1,77,100. His salary
from 2014 has risen annually by 10, 15 and 40
per cent respectively to reach 2017 salary
figures. What was his salary in 2014?

1. Rs.95,000

2/a'.r,ts,ooo3. Rs. 1,20,000

4. Rs. 1,00,000

97. ln APQR, P)LLQR. Find the value of PQ2+QR2 -

2QR.QX j

tS+fi - Ll

.Y PR'

2. zPor

3. QR.QX,

4. 2PR2 + PQ2

1 l

20

t



98. The Points P(0,4), a(-3,1) R(0,-2) and S(3,U are
the vertices of a

1. ParalleloBram

uare

firgeftdfr{dr
r vqioc {g"lq
z. st
3. qdrTrori rE$q
+ w a-gfo

o Co Ifl ot dq B Sk Zxoy = 1oo" t I Z*rp
or crc 5rd dftql

(1')

98

, in)

rJ

99

3. Kite

4. Rhombus

O is the centre ofa circle and Zxoy = 100'. Find

the measure of Zxzp

(a,1

*

Y

z

P

Z

x

P

1OO. ln trapezium PaRS, PallRS and PQ = 235. 11t*
and QS intersect at point O, what will be the
ratio of areas of APOQ and AROS?

1. 1:1

1. 500

2. 1000

3. 1500

4. 800

ioo. trqdq qgfqpaRs, d, perrRs *r pe=zns
qR pn st{ as ftg o q{ cFrd< o-ri B. d
apoq sih ARos d etes-a 6-1 3fi5crf, wr
*qT?
'l.. 1.1

2. 2:1

3. 411

4. 1:2

3 oo

ot 'F &.t --\ 
-f i \oo

5 r-5 3
nL* WJ6o' 3 -'.--a s3o '

)( soo

2. 1000

3. 1500

4. 900

2. 2:7

,{0,,
4. Li2 5 ttJ (

F rq{+ a
I

x-I

ul*;-tt$;
Ir-t loc0

,,i._

27

Qt
'nQ 'r

9(yifu
)ry

1000

x 1o o'r v

q" 2tr-/ 't

99.

a

lo ooq

1000
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